(&% . r&ERIkiE] (B 10 F)

15 28 35 4 BLUF 5 R EXE | 3EAR
1 0 1 2 9 12 0.0% 8.3% 25.0%
2 1% 0 2 0 13 15 0.0% 13.3% 13.3%
3% 6 0 0 9 15 40.0% 40.0% 40.0%
4 # 2 2 2 11 17 11.8% 23.5% 35.3%
5 0 1 3 14 18 0.0% 5.6% 22.2%
6 1 1 2 0 16 19 5.3% 15.8% 15.8%
7 1 1 1 1 17 20 5.0% 10.0% 15.0%
8 1 0 1 2 17 20 0.0% 5.0% 15.0%

(&% . B&ERIkE] (8% 10 F)

15 28 38 4 BT 5 =R ERR | 3HNXR

1% 0 1 2 7 10 0.0% 10.0% 30.0%
285 0 2 0 8 10 0.0% 20.0% 20.0%
3% 2 0 0 8 10 20.0% 20.0% 20.0%
4% 1 0 1 8 10 10.0% 10.0% 20.0%
5% 3 0 1 6 10 30.0% 30.0% 40.0%
6%& 2 0 0 8 10 20.0% 20.0% 20.0%
75 1 1 1 7 10 10.0% 20.0% 30.0%
8 & 0 2 1 7 10 0.0% 20.0% 30.0%
9 & 0 2 2 6 10 0.0% 20.0% 40.0%
10 & 1 1 0 8 10 10.0% 20.0% 20.0%
115 0 0 0 9 9 0.0% 0.0% 0.0%
12%& 0 0 1 7 8 0.0% 0.0% 12.5%
13& 0 0 0 7 7 0.0% 0.0% 0.0%
14 & 0 0 0 5 5 0.0% 0.0% 0.0%
15#& 0 1 1 3 5 0.0% 20.0% 40.0%
16 & 0 0 0 2 2 0.0% 0.0% 0.0%

(&% . HhlRHE] (B 10 F)

15 28 35 4 BLUF 5 R EXER | 3HFRR

tt 10 10 10 100 130 7.7% 15.4% 23.1%
> 0 0 0 4 4 0.0% 0.0% 0.0%
Cis 0 0 0 2 2 0.0% 0.0% 0.0%




(&% : Binhlakia]l (B 10 F)

15 28 35 4 BLUF 5 R EXE | 3EAR

4 7% 3 2 0 8 13 23.1% 38.5% 38.5%

5% 0 2 1 15 18 0.0% 11.1% 16.7%

6 % 5 4 2 28 39 12.8% 23.1% 28.2%

7 % 0 2 4 21 27 0.0% 7.4% 22.2%

8 % 2 0 1 17 20 10.0% 10.0% 15.0%

9 % 0 0 2 14 16 0.0% 0.0% 12.5%

10 % 0 0 0 2 2 0.0% 0.0% 0.0%

11 7% 0 0 0 0.0% 0.0% 0.0%

(&% : BFhIkiE] (8% 10 &)

15 28 35 4 BT 5 R ERR | 3HRXR
FHES 2 1 0 3 6 33.3% 50.0% 50.0%
IRHZE 1 1 0 6 8 12.5% 25.0% 25.0%
Al 1 1 0 5 7 14.3% 28.6% 28.6%
FrEest 1 0 3 2 6 16.7% 16.7% 66.7%
FIREER 1 0 2 3 6 16.7% 16.7% 50.0%
LR 3Rk = 1 0 0 2 3 33.3% 33.3% 33.3%
SRER 1 0 0 2 3 33.3% 33.3% 33.3%
IR E® 1 0 0 4 5 20.0% 20.0% 20.0%
K555 1 0 0 5 6 16.7% 16.7% 16.7%
i) 132 0 2 0 0 2 0.0% | 100.0% | 100.0%
HEXH 0 1 1 4 6 0.0% 16.7% 33.3%
HEREA 0 1 0 0 1 0.0% | 100.0% | 100.0%
AlkpEZ 0 1 0 0 1 0.0% | 100.0% | 100.0%
hEFEE 0 1 0 0 1 0.0% | 100.0% | 100.0%
AR 0 1 0 2 3 0.0% 33.3% 33.3%
Etatl= 0 0 1 1 2 0.0% 0.0% 50.0%
LEREXR 0 0 1 2 3 0.0% 0.0% 33.3%
e ] 0 0 1 3 4 0.0% 0.0% 25.0%
ENCEN 0 0 1 1 2 0.0% 0.0% 50.0%
T OABDEETF 0 0 0 61 61 0.0% 0.0% 0.0%




(&% BB AKIERME] (B 10 F)

15 2& 3& 4 BT H PR EER | 3ERNXR
1BAK 3 2 1 4 10 | 30.0% | 50.0% | 60.0%
2BEAR 4 1 2 3 10 | 40.0% | 50.0% | 70.0%
3BAK 2 0 1 7 10 | 20.0% | 20.0% | 30.0%
4 BEAR 0 1 4 5 10 0.0% | 10.0% | 50.0%
5EAR 0 2 0 8 10 0.0% | 20.0% | 20.0%
6 BEAKLUT 1 4 2 79 86 1.2% 5.8% 8.1%
(2% : AFERRIKE] (B 10 &)
15 25 35 4 BT 5 PR ERER | 3EHAR
RHZRE 1 3 0 1 5| 20.0% | 80.0% | 80.0%
EHEBN 1 1 0 2 4| 25.0% | 50.0% | 50.0%
FRHEIEE 1 0 3 4 8| 12.5% | 12.5% | 50.0%
ARELE 1 0 0 1 2| 50.0% | 50.0% | 50.0%
=HBE— 1 0 0 0 1| 100.0% | 100.0% | 100.0%
{EEERIGA 1 0 0 1 2| 50.0% | 50.0% | 50.0%
T35 1 0 0 0 1| 100.0% | 100.0% | 100.0%
AHE 1 0 0 0 1| 100.0% | 100.0% | 100.0%
ERHE 1 0 0 4 5| 20.0% | 20.0% | 20.0%
RIFER= 1 0 0 3 4| 25.0% | 25.0% | 25.0%
F Eihz 0 1 1 0 2 0.0% | 50.0% | 100.0%
= IRk 0 1 0 2 3 0.0% | 33.3% | 33.3%
S 0 1 0 0 1 0.0% | 100.0% | 100.0%
HzES 0 1 0 1 2 0.0% | 50.0% | 50.0%
INARES 0 1 0 11 12 0.0% 8.3% 8.3%
N SIEfT 0 1 0 5 6 0.0% | 16.7% | 16.7%
e NV 0 0 1 0 1 0.0% 0.0% | 100.0%
LN 0 0 1 0 1 0.0% 0.0% | 100.0%
Foy =R 0 0 1 2 3 0.0% 0.0% | 33.3%
NBE— 0 0 1 2 3 0.0% 0.0% | 33.3%
[ERE 0 0 1 3 4 0.0% 0.0% | 25.0%
R EE—BR 0 0 1 1 2 0.0% 0.0% | 50.0%
T DAL 0 0 0 63 63 0.0% 0.0% 0.0%
(2% : FERIAKIE] (8% 10 F)
15 2& 35 4 BT PR EXER | 3EHRR
Pl 1 1 0 20 22 4.5% 9.1% 9.1%
fots 1 2 3 18 24 4.2% | 12.5% | 25.0%
AFH 7 7 7 57 78 9.0% | 17.9% | 26.9%
J1E 1 0 0 11 12 8.3% 8.3% 8.3%




(&% : siEDL —XHIRHE] (B2 10 £F)

1% 2% 3% | 4aEMT | 3 BE | Eux | 3Emx
S 11 17 11.8% 11.8% 35.3%
HAASA hE=R 7 11 18.2% 18.2% 36.4%
oAt 10 88 108 5.6% 14.8% 18.5%
(2% : siEDOHERARIKE] (&AF 10 F)
1% 2 3E | 4ENT BE | mux | 3Enx
78R 1 1 0 0 2 50.0% | 100.0% | 100.0%
8 EH 0 0 0 1 0.0% 0.0% 0.0%
9EH 0 0 0 4 4 0.0% 0.0% 0.0%
10E& 0 1 0 9 10 0.0% 10.0% 10.0%
11 88 1 2 1 13 17 5.9% 17.6% 23.5%
12 88 1 1 3 11 16 6.3% 12.5% 31.3%
1358 2 0 0 9 11 18.2% 18.2% 18.2%
14 58 2 4 2 23 31 6.5% 19.4% 25.8%
1558 1 0 1 7 9 11.1% 11.1% 22.2%
16 B8 2 1 3 29 35 5.7% 8.6% 17.1%
(&% . FIEDEBASUERKE] (8% 10 F)
1% 2% 3& | 4BMTF | & BE | aux | 3Enx
1 BAR 2 4 2 3 11 18.2% 54.5% 72.7%
2BAR 1 1 0 10 12 8.3% 16.7% 16.7%
3BEAS 1 1 0 4 6 16.7% 33.3% 33.3%
4 BAR 1 2 1 11 15 6.7% 20.0% 26.7%
5BAS 2 0 1 8 11 18.2% 18.2% 27.3%
6 BAS, 1 0 1 7 9 11.1% 11.1% 22.2%
7 BAR 1 1 0 8 10 10.0% 20.0% 20.0%
8 BEAS 0 1 4 9 14 0.0% 7.1% 35.7%
9 BEAR 1 0 1 8 10 10.0% 10.0% 20.0%
10 BEAK 0 0 0 10 10 0.0% 0.0% 0.0%
11 BEAR 0 0 0 7 7 0.0% 0.0% 0.0%
12 BAK 0 0 0 8 8 0.0% 0.0% 0.0%
13 B/EAR 0 0 0 3 3 0.0% 0.0% 0.0%
14 BAS 0 0 0 6 6 0.0% 0.0% 0.0%
15 BFBAK 0 0 0 2 2 0.0% 0.0% 0.0%
16 BEAK 0 0 0 2 2 0.0% 0.0% 0.0%




(&% FIEDHBEAREXDRIMNE] (B 10 F)

15 28 35 4 BT 5 R B | 3EAR
430kg & 0 0 1 2 3 0.0% 0.0% 33.3%
440kg & 0 0 0 3 3 0.0% 0.0% 0.0%
450kg & 0 0 0 3 3 0.0% 0.0% 0.0%
460kg & 1 0 1 6 8 12.5% 12.5% 25.0%
470kg & 0 1 0 8 9 0.0% 11.1% 11.1%
480kg & 2 1 1 18 22 9.1% 13.6% 18.2%
490kg & 2 4 1 17 24 8.3% 25.0% 29.2%
500kg & 1 0 3 12 16 6.3% 6.3% 25.0%
510kg & 1 1 2 11 15 6.7% 13.3% 26.7%
520kg & 0 1 1 6 8 0.0% 12.5% 25.0%
530kg & 1 0 0 11 12 8.3% 8.3% 8.3%
540kg & 0 1 0 3 4 0.0% 25.0% 25.0%
550kg & 1 0 0 2 3 33.3% 33.3% 33.3%
560kg & 0 1 0 2 3 0.0% 33.3% 33.3%
570kg & 1 0 0 1 2 50.0% 50.0% 50.0%
610kg & 0 0 0 1 1 0.0% 0.0% 0.0%

<R >



